— 819 —



S = © o

820



— 821



— 822 —



— 823 —



— 824 —



— 825 —



— 826 —



— 827 —



®
_ 1 )
_(1_1+ X
B 1+ )
_(1_ 1+ x
1+ )
_(1_ 1+ X
3
=Z( X )x
7-1 1999 500 2000
2000 1000000
5-7-1
20% 5%
2000 5-7-2
5-7-1
%
325 65
100 20
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%

75 15

500 100
5-7-2
- 6%
+3%
+15%
+5.8%
+ 8%

I- 1+4+3% x 1-6% X 65% =2.067%

= 6% -

1-6% x3% x65% =2.067%

= 1000000 x 2.067 % = 20670

=(1-m)x20%=1.6%

1+15%

= 1000000 x 1.6% = 16000

(i
=10
5-7-3

1+8%) _
~1+20% x15% =1.5%

00000 x 1.5% = 15000
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%o %
6 = 4 7 =
1 2 3 4 = 2 x 3 5
x 5 -
65% 325 650000 2.067 20670 629330
20% 100 200000 1.6 16000 184000
15% 75 150000 1.5 15000 135000
100% | 2000 500 1000000 5.167 51670 948330
5%
= X X 1-
7-2
25000 200 10%
30%
= 25000 x 200 x 30%
= 1500000
= 25000x200 x 1-10% - 1500000
= 3000000

= 3000000 + 25000 = 120
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Y=ua+ bX
y— X— a b—
n
DY =na+ b2, X
DIXY = a2 X+ b2, X2
a b
DY -bDX , n > XY - D XY
¢ n T x- Dx?
a b Y=d+ bX
7-3 5-7-4
5-7-4
X Y Xy X?
1995 200 14000 2800000 40000
1996 400 22000 8800000 160000
1997 900 42300 38070000 810000
1998 300 18000 5400000 90000
1999 700 35000 24500000 490000
n=>5 > X =2500 >1Y =131300 27 XY = 79570000 > X2 = 1590000
a b
) n2 XY - 2IX20Y 5 79570000 - 2500 x 131300 _ 40,04
A2 X - Dx 2 5 x 1590000 — 25007
o 20X —anX ) 131300_4(5).94 x 2500 _ s,

Y = 5790 + 40.94X
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2000 1000
= 5790 +40.94 x 1000 = 46730
=46730 = 1000 = 46.73
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